[bookmark: _GoBack][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ][image: ]　　　　　　　　　　　　　　　　　　　　　　　　
image3.png
3 &Y —5 IS
hHOHELY

HHMEYL L
3 &Y 5

4+ttt

0 3





image4.png
o1

fY —4 K= VB
HHEEKY

HABEY.
5 &Y

o o





image5.png
S5&Y—8KEVHEFKRDHH_ LT,
5&Y =RHBZELERL

I e R B
o 5

5&YU—4/hSLEERHDBZEIE.
5&kU #ROHBHZEERL

—+——t—t—t—+—+—+—+—+—+—+—+
0 5





image6.png
BEHEFELT
BEYARZFVHEHMERICERLELLD,

+—tt+t+——+——+—+—+—+—+—++
0] 3
SKYGNSNHEHMERLICERLELLD,

‘et —t—t—
0] 3





image7.png
2DDED K/
5&£—3TIlE,
S5DIFSINKEL, T HFEoTRT &
5> —3&7Y)

ERAFET

—3&—2TI&.
—3DIFSHINELY,
—3<—2

3 RD( HIZTARFETEZANT, RKINERED,
(1) 4C )5 (2) =8( )—7

(3) —1.6( )—0.6 (4) —g( )—g





image8.png
% I
N e {OYN =12

) 44—t 1
-5 —4-3 —2 —10 1 2 3 4 5
. BEHRLTIE.
BE ROBTREVHIIESL ? F-. ‘?ﬁ*ﬂlﬁb\iﬂéb\
DIFELE?
(1) —4¢&3 (2) —5&—2
REVH3 #MxHERX—4 KEUVLWH—2 #XIEKR—5

BDOKI
- EOHRIFEDHEIYKEL,
- EDHIFOLYKREL R ENKENFEKREL,
- BORIFOKY/PNSL, HEEARENFE NS,





image9.png
X iE

ROMOBHBENNEEN, £ HEEE
KTZ*AEL\L\ﬁéL\O

(1) =5 (2) +8 (38) —3.5 (4) %
HEXTHE





image10.png
ROBETOHEREIZRLTHELLD,
—3.+3.—4.+4.,—1.5.+1.5
—4 -3 -1 0 1 +3 +4
—1.5 +1.5
—3E+3LBEDISIC. FEEEATTES2
DDHEIZDNT. KON EELLVELELS,
HEBZRLED. ONLHEIMETD . TD
5 {0)) eV,
+3. —3DEREIXI. +4. —4DEREL
+15. —1.5MDFExHEIX OD#EXFiE X





image11.png
RODBETDHEREICRLTHELELD,
—3.4+8.—4.+4.-1.5.+1.5

—

-1 0 1





image1.png




image2.png
e #%
HE
R
E->T. R
RO
ZK
&H7E
=0y

(1

o _5#)3

; _1U6/J\é=l,é%\$jz
(5) 1otfw4lj\ .
: )_4j<é“§i
: =18k
(8

~—

~—
~—

) —_
1Kkt
—4 kL e ”\*ﬂ
J—8/J\é:;ijz
¥

~—





